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In Section 2.3. “Interconnected control problems”, Equation (2.10) should be replaced by:

Wouri (k) = Ki [%: (k)T (k)T §u(k)T]"

In Section 2.4.4. “Parallel versus serial schemes”, in the paragraph “Parallel implementa-
tion”, the following text:

2 (b) For all agents i € {1,...,n}, at the same time, agent 7 solves the problem
(2.21) to determine %;(k + 1)), @;(k)), Wiy ji(k)®), Woue ji(k)*), and
sends to agent j € N; the computed values Wout’ji(kz)(s

should be replaced by
2 (b) For all agents i € {1,...,n}, at the same time, agent i solves the problem
(2.21) to determine %;(k + 1)), @;(k)), Wi ji(k)®), Woue ji(k)), and
sends to agent j € N; the computed values v?loutyji(k)(s) and Gvin,ﬁ(k)(s).

In Section 2.4.4. “Parallel versus serial schemes”, in the paragraph “Serial implementation”,
the following text:

... and given the previous information Wpyev i; (k) = Wg;_l)(k) of the last iteration
s—1...

should be replace by

... and given the previous information Wi, prev,i; (k) = vNVinyij(k)(s_l), Wout,prev,ij (k) =
Vvout,ij(k)(s_l) of the last iteration s —1 ...

In Section 2.4.4. “Parallel versus serial schemes”, in the paragraph “Serial implementation”,
the following text:

(ii) 2 For all agents i = 1,...,n, one agent after another, agent i determines
% (k+1)®) @;(k) ), Wip i (k) Wous,ji (k) by solving (2.21), and sends
to agent j € NV; the computed values v?rout,]-i(k:)(s).

should be replaced by
2 (b) For all agents i = 1,...,n, one agent after another, agent i determines

% (k+1)) @;(k) ), Wiy i (k) Wour i (k) by solving (2.21), and sends
to agent j € N; the computed values Wout’ji(k)(s) and vNVin,ji(k)(S).



e (PMN) After equation (2.22) should follow:

(s+1)

in,j1

Send A
used as S\(Siirg(k‘)

(k) to controller j and receive the multipliers from controller j to be

e (GB) In Section 5.6.1. “Steady-state characteristics of power networks”, paragraph “Trans-
mission lines”, Equation (5.7), the term

+ ZVRV w ZR,LW ) SiIl(Zg7L — 2’97“))
(nR,Lw) + (nX,Lw)
should be
— RV.RV, TR sin(zg,, — 20,0)
LEV,w N2 ,w
(nR,Lw)2 + (77X,M)2
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